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ENGLISH VERSION

Instruction :
Attempt all four questions. Show required calculations as a part
of answer.

1 X Ltd sells its products on a gross profit of 20 % on 20
Sales. The following information is taken from its books of
account for the year ended on 31-03-2017 :

Particulars Amount Rs.
Sales at 3 months' credit ........coooveviiiiiiiiinin. 50,00,000
Raw material .........coooooiiiiiiie 12,00,000
Wages paid - average time lag 15 days............ 9,60,000
Manufacturing Expenses - Paid one

month In Arrears......coooooeeeeeeeeeeeeeeeeeeeeennen. 12,00,000
Administrative Expenses - Paid one month

IN ATTEATS «oooviiiii e 4,80,000
Sales Promotion Expenses - payble

half-yearly in Advance .............cccooeeviiiviieneniinnnnn. 2,00,000

(1) The Company enjoys one month's credit from suppliers
of Raw Materials.

(2) The Company maintains 2-month's stock of raw materials
and 1.5 month's stock of finished goods.

(3) The minimum cash balance is to be maintained at
Rs. 1,00,000 as precautionary measure.
Based on above information and assuming 10 % margin

find out Working Capital requirements of the Company.

OR

1 The Y Ltd produces 1,56,000 units of production. The cost 20
per unit of the product is as follows. Based on the information
calculate the amount of Net Working Capital :

Particulars Amount (Rs.)
Raw Material ........ccooovviiiiiiiee e 90=00
Direct Labour ........c.ooooiiiiiiiie e 40=00
Overheads..........ooiiiiiiii e, 75=00
Total COSt wevniiieeieie e 205=00
Profit .. 60=00
Selling Price ......coooooiiiiiiiieee e 265=00

(1) The raw materials are in stock, on average, for one
month and materials are in process, (50 % Complete)
on average for 4 weeks.
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(2) Finished goods are in stock on average for 01 month.

(3) Credit allowed by suppliers is 1 month and to Debtors
is 02 months.

(4) The average lag in payment of wages is 1.5 weeks and
of overheads is 1 month.

(5) 20 % of the production is sold on cash basis.

(6) It is expected that a sum of Rs. 60,000 is required as
minimum cash in hand.

(7) It is to be assumed that production is carried on evenly
throughout the year; Wages and Overheads accrue
similarly and a time period of 4 weeks is equivalent to

a month.
2 The Balance Sheet of ABC Ltd as on 31-03-17 was 20
as under :
Liabilities Amount | Assets Amount
(Rs.) (Rs.)
4,000 Pref. shares Each Plant 2,00,000
of Rs. 100 4,00,000 | Buildings 2,50,000
30,000 Equity Shares Shares of Subsidiary Co. 80,000
Each of Rs. 10 3,00,000 | Subsidiary Company's
Share Premium 56,500 | Dues 4,00,000
P.& L. A/C 2,62,000 | Provident Funds'
Dividend Equalization Investments 70,000
Funds 1,40,000 | Stock 1,92,000
Provident Funds 70,000 | Debtors 6,00,000
5 % Debentures 28 000 | Banks balance 1,20,000
Trade Creditors 4,12,000 | Preliminary Expenses 5,000
Uncalled up Dividend 500
Mortgage Bank Loan 10,000
Proposed Dividend 34,000
Bills Payables 54,000
Depreciation Funds
on Plant 50,000
Depreciation Funds
on Buildings 1,00,000
19,17,000 19,17,000

Additional Information :

(1) The Market value of Provident Funds' Investment,
Plant and Shares of Subsidiary Company is Rs. 3,65,000,
Rs. 1,20,000 and Rs. 80,000 respectively.

(2) The earnings before taxes are Rs. 4,50,000.

(3) In the Stock, a stock of Rs. 2,000 is obsolesce in nature.

(4) A sum of Profit Rs. 5,000 earned on Sales of Previous
year 1s included in the profit of the current year.
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(5) A Plant worth Rs. 6,500 was sold at Rs. 5,000 during

current year.

(6) A sum of Rs. 1,000 of Interest on Mortgage Bank Loan
has been debited to current year's P and L Alc.

Calculate Rate of Return on Total Capital Employed,
Return on Net Capital Employed and Return on Owners'

Capital Employed.

OR

2  CD Ltd produces a standard product. Per unit cost of the 20
product is as under :

Direct Materials Rs. 20, Direct Labour Rs. 10 and
Variable Factory Expenses Rs. 6. Total Fixed Expenses is
Rs. 3,00,000 and the production was 20,000 Units. The profit
is calculated 25% on Sales. The Balance Sheet of CD Ltd as
on 31-03-17 was as under :

Liabilities Amount | Assets Amount
(Rs.) (Rs.)

Share capital 7,00,000 | Land 4,50,000
Share Premium 1,00,000 | Plant 2,50,000
Provident Funds 2,65,000 | Buildings 4,00,000
Workers' Profit Equity Shares
Sharing Funds 1,50,000 | of Subsidiary Co. 80,000
10 % Debentures 2,00,000 | Equity Shares
Creditors 88,000 of AB Co. 90,000
Workers' Stock 1,92,000
Compensation Debtors 4,00,000
Funds 2,97,000 | Banks balance 1,20,000
Bills Payables 1,50,000 | Underwriting
Depreciation Funds Commission 18,000
on Plant 50,000

20,00,000 20,00,000

Based on above information calculate Rate of Return
on Total Capital Employed, Return on Net Capital Employed

and Return on Total Average Capital Employed.

3  The following are the data for RS Ltd Company. The 15
production capacity is ranged between 20,000 to 40,000 Units.
At this level the selling price per unit is Rs. 7.
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Particulars Amount (Rs.)

Direct material per unit..............ccoooeeeiiiiiiiiiiiiiiine, 2=00
Direct labour per unit ...............oooiiiiiiiiiiiiiiee 1=50
Indirect labour per unit..................... 0=50 + 10,000 p.a.
Fuel charges per unit......................... 0=20 + 15,000 p.a.
Depreciation annual ...................cooooeiiiiiiii 20,000
Salary annual...............cccooeoiiiiiii . 17,000
Factory rent annual Rs..............coooeeiiiiiini, 8,000

The share capital of the Company is 10,000 Equity Shares
having face value of Re. 1 each. The market price at present
is Rs. 12 per share. Cost of Capital is estimated at 14 % and
Corporation Tax is 50 %. Based on these data calculate :

(1) Target Profit,
(2) If Company wants to earn the Target Profit; what will
be required sales ?

OR
3  The following are the cost data of PR Ltd. @ its 60 % 15

production capacity :

Particulars Amount (Rs.)
Direct material per unit...............c.coooeiiiiiiiiiiiinn.... 10=00
Direct labour per unit ...............oooeiiiiiiiiiiee 8=00
Direct expenses per Unit ........c..oeevvveeeeeiiiiiineeeriiineenns 2=00
Admin. expenses (50% Fixed) .............ccccceeoo. 12,000 p.a.
Selling expenses (40% Fixed).......ccccoooveiiinnni.. 20,000 p.a.
Factor expenses (40% Variable)....................... 30,000 p.a.

From the above information prepare a Flexible Budget
showing profit @ 60%, 75% and 100% level of its production
capacity. The annual production capacity of the company is
20,000 units. If the company wants to earn a profit of 25 %
on sales, calculate the amount of profit per unit as well as
total profit at 60 %, 75% and 100% level of its production

capacity.
4 (a) Conceptualize Target Costing. Discuss its approaches. 8
(b) Conceptualize Management Control Strategy. 7
Explain its demerits.
OR
4 (a) Conceptualize Government Accounting. Explain 8
its importance.
(b) Discuss the Responsibilities of Comptroller and 7

Auditor General of India.
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